Earn credit by showing your work Practice CRT Test N:rr;':;:. I [I
No work = NO credit Intermediate Algebra P T

1. SolveVx—2+3=7, (Hint: step 1 is to subtract three, step 2 square both sides of equal sign.)
a. x=98
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2. Simplify ¥ 122, eovrn (‘Jrcdc‘\"

a. 4x\V3
b. 2xv3
c. 2xvV3x

d. 4x2+4/3x

3. Nyles has $300.00 in the bank and his job pays $10.50/hr. Which function describes
his situation?
% N(h) = 300 + 10.
b. N{h)=300h + 10.5h
c. N(h) =300h + 10.5
d. N(h) =300 + 10.5

4. Solve B\JXJ 4+ 1 = 2. Hint: the first step is to “undo” the cube root!
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5. Find [f(g(x)]with f{x) =x + 1and g(x) = 2x+ 1.
a. 3x+2
c. 3x+3
d. 2x+ 3



6. Find f(g(—2)) with f(x)} = x + 1and g(x) = 2x* + 1,
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7. Find f(x) —g(x)when f(x) = 2x + 6and gx) = —x + 1.

CE 3x+5 D

b. 3x+7
c. Xx+5
d x+7
2
[3x2 J
8. Simplif 3
plity y
3x* 3x*
a 5 C. .6
Y Y
9x* Ox*
b 2 d. 6
y? y
xzy—4
9. Write this fraction without negative exponents: 75




10. Expand (v/x+ 4)?
a. x+16
b. x +yx+16
. x+8x +16

xS+ 4

a O

11. Solve: 3|x+10]=60

d. No Solution

12. Solve: |x+2| <3

a. x<3
b, -S5<x<l
C. x<-50rx>1

d —3<x<3
13a. Graph (not multiple choice): y=—(x+4)2 +4

13b. Find the zeros {or roots) using algebra!
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14. Solve: |x|+5=0

x=5
x=15
x=10

No Solution
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15. For which of the following angles is the tangent ratio undefined?

a. o°
b. 30°
c. 60°

16. In which two quadrants is the sine ratio negative?

a. land IV
b. ltandlll
c. HandlIV
d. llland IV

. 2
17. Give the exact value of COS(?J

2
b. 5
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18. Solve: tanx =1

a. x=30°

c. x=60°
d. x=90°

3
19. Given an angle @ in a right triangle, cot& =T' find cos@

a. 3

b. 10
. 3J10
10
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20. Give the exact value of sec [—6—]

a
b.

|& B | b

C.

21. Solve the equation by factoring: 14x* —-28x =0

a. x=0orx=4
b. x=2o0orx=4
C. x=0orx=2

d. x=-2orx=4



22. Write the expression in factored form: 2%’ —5x-3
a. 2x—D(x+3)
b. Cx+3)(x-1

C. (2x—3)(x+1)

23. Write the expression in factored form: 4x* -9 ?
a. 2x—9)(2x+1)
b. 2x-3)(2x+3)
C. (4x—3)(x+3)

d. @x+1D(x-9)

24. Solve the equation by factoring. x*+7x-18=0
a.x=2orx=9
b. x=—2o0rx=-9

d. x==2o0rx=9

25. Solve the equation by factoring. x*-3x=4
a. x=lorx=4
b. x=-lorx=—4
C.x=lorx=—4

d. x=-lorx=4



26. ldentify the solution of the system graphed below.

a. x=2 ,y=4

C.x==2,y=4

d. x=3,y=1

27. Solve the system by graphing.
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a. x=2,y=3
b. x=3,y=2
C.x=4,y=1

d. x=1,y=4




28. identify the solution to the system of inequalities.

-

y<2x+1
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2S. Which region, if shaded, satisfies the system of inequalities?
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a. Region A
b. Region B
c. RegionC

d. Region D



30. Identify the system represented by the graph below.

y

y<2x+1
y<=-3x+3
b.
y>2x+1
y<-3x+3
c.
y>2x+1

y>-3x+3




31. Identify the equation which matches the table, a) y=3x-2

X y b) y=-2x+4
-2 8
c) y=8-1x
-1 6
0 4
d} y=-2x+8
1 2
32. Graph: y=|x—5]+1 33. Given a table, write the equation:
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34. Simplify:

35. Simplify:

36. Simplify:

37. Distribute:

38. Distribute:

39. Distribute:

Simplifying Algebraic Expressions

8a+da-2a=

4+8y—(2y-8)=

3x*+7x+2x =@

Using the Distributive Property

3(5x +10) =

5(8-3a%)= M

~2(5x—4) =



Finding the equations of a line

40.

a) Plot the point (5, -2) on the graph.

b) Plot the point (-3, 2) on the graph.

¢} What is the slope between the points? -

d) Write the equation in point-siope form: Y-}, =m (x — xl)

y-en= -4 (x-5)

e) Identify the y-intercept  (Hint: set x equal to zero and solve)
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f) Write the equation in slope-intercept form: y=mx+b
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